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Bhn JEPECHE 1-1 Rl

L BN ESGER e SOEA:
Number — Numberl Digit

Number — Digit
Digit —-01]1|2[3|4]|5|6]|7]8]|9

Number #4 /%1 %4 val, Digit 44/& 1 A lexval,

A J2 b SR AL
Number — Numberl Digit Number.val = Numberl.val * 10 + Digit.lexval
Number — Digit Number.val = Digit.lexval
Digit — d Digit.lexval = d

2. G SORR) 8 S
Number — Digit Numberl

Number — Digit
Digit —-0]1|2[3|4]|5|6]|7]8]|9

Number 89/ A val = len, Digit 89 /Z M A lexval,

AKX e SR ALY

Number.val = Digit.lexval * 10Numberllen 4 Nymberl.val

Number — Digit Numberl
Number.len = Numberl.len + 1

Number — Digit Number.val = Digit.lexval

Digit — d Digit.lexval = d

3. TR SR SR AN T
dnum — num.snum
num — numl digit | digit
snum — digit snuml | digit
digit -=0|1]2|3]4]5]|6]7|8]9
gim kfPw
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dnum #9 /& # val, num #9 /%4 # val, snum #9144 val F= len, digit 49 &1 A lexval.

FFEX S Sk AL
dnum — num.snum dnum.val = num.val + snum.val / 10snum-len
num — num]l digit num.val = numl.val * 10 + digit.lexval
num — digit num.val = digit.lexval

o snum.val = digit.lexval * 10s"™llen 4 spum1.val
snum — digit snum1
snum.len = snuml.len + 1

snum — digit snum.val = digit.lexval

digit — d digit.lexval = d
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